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02 =224l 6,550 7,386 A 836
Ozs&E2= & HA 4,800
—HHLB(SHHE, FLIRHE S)
4,000& 300 *23] 2,400
—HIR3 (LM MAFZTEHE ZHAL)
200,000& x12& 2,400
O®EIIXSA 282 & 22l (1) 1,000
OOIEXESK 282 &L 22/d (1) 750
202 odl 44,308 42,896 1,412
01 = LH o4 1l 42,508 40,496 2,012
O30 (&) 28,108
O=Uoitl(22l) 14,400
02 X 1,800 2,400 A 600
OoHltl2 & Jtollet Z2EIIAk
150,000 x 1H x12& 1,800
203 R =&Yl 7,500 7,500 0
01 JI22H =8 3,300 3,300 0
OJ122d =2t 3,300




A I AA
. HE2GAUI(OIZ0faral)
crel: Jl= Yl (ol @)
SA - ZE-B(EA) - NRAY - B S il RS2
04 EAN2I LRI 4,200 4,200 0
ORN2ILRF=AHI 350,000& 128 4,200
MRS (OI20aa) ,500,000 2,500,000 0
EdXE ,500,000 2,500,000 0
= - EHEXZ BtE3 ,500,000 2,500,000 0
802 BHEt= DI EF ,500,000 2,500,000 0
01 22X 3eeE= ,000,000 2,000,000 0
O=10Ex3 ALSEH Btat g ,000,000
02 Al - SHIEXZEHEZ 500,000 500,000 0
OEHIEXS AISEH BtEzg 500,000
ol gl gl ,467,716 8,244,521 223,195
0l 1 8l ,467,716 8,244,521 223,195
ol Bl Bl ,467,716 8,244,521 223,195
801 GBIl 8,467,716 8,244,521 223,195
01 eroiidl bl 3,450,000 4,496,821 A 1,046,821
Ooldl gl 3,450,000
02 THoH - THH= = 0ol Hi bl 5,017,716 3,742,700 1,275,016
OHol - = =0l 5,017,716




